Wednesday 20th January 2021
Maths
Dividing a 2 digit number by 1 digit.

Remember to divide means to share equally.
Below I’ve made 39 from 10s and 1s counters. We then need to share 39 equally between 3 groups. Have a go…
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How many did you have in each bubble?

Is it easier to see the solution if the groups are arranged in 10s and 1s?
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That is how we think of our numbers when we use the bus stop method. We start by sharing the greatest place value then the smallest.






ANSWER 
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So the answer is 13.

Use this method to solve the following. Choose the section you feel the most confident to answer. Once you can answer 5 of the below with confidence have a go at the challenge questions. They get harder towards to the end, try to do at least 3. 

[image: ]






Challenge:
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ANSWERS
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Challenge:

Dora is correct because 70 is not a multiple of 3, so when you divide 7 tens in to 3 groups there is 1 ten remaining which will then be exchanged.

<, <, <

96 shared in to 1 group = 96
96 divided by 2 = 48
96 divided by 3 = 32
96 divided by 4 = 24
96 divided by 6 = 16
96 divided by 8 = 12

Whitney is thinking of 28
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2: any even number
3: and 3 digit number as long as the digits add up to 12, a multiple of 3
4: A number where the last two digits are a multiple of 4
5: Any number with 0 or 5 in the ones

Possible Answers
6: Any even number
7: 714
8: 840
9: impossible
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Use <, > or = to complete the
statements.




image8.png
Eva has 96 sweets.

She shares them into equal groups.

She has no sweets left over.

How many groups could Eva have shared
her sweets into?
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Whitney is thinking of a 2-digit number
that is less than 50

When it is divided by 2, there is no
remainder.

When it is divided by 3, there is a
remainder of 1

When it is divided by 5, there is a
remainder of 3

What number is Whitney thinking of?
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Dexter is calculating 208 =+ 8 using part-
whole models.
Can you complete each model?

How many part-whole models can you
make to calculate 132 =+ 4?
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You have 12 counters and the place value
grid. You must use all 12 counters to
complete the following.

Hundreds Tens Ones . . . ’
0000
0000

Create a 3-digit number divisible by 2
Create a 3-digit number divisible by 3
Create a 3-digit number divisible by 4
Create a 3-digit number divisible by 5
Can you find a 3-digit number divisible
by 6,7,8 or 9?
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208 -8=26
80+8=10
48+-8=6
160 -8 =20
40+8=5
8+8=1
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Q There are 126 players at a
7-a-side rugby tournament.
How many teams are there?

@ There are 84 questions in
a quiz. The winning team
answer one sixth of the
questions wrongly. How
many do they get right?

@ A sprinkler uses nine litres
of water every minute. How
long has it been on if 153
litres have been used?

@ Cards are sold in packs of

eight. Simon buys 104 cards.

How many packs does he
buy?

Work out
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Q There are 156 nails in six
equal size packets. How
many nails are there in each
packet?

@ Keisha earns £9 an hour.
In one week she earns £333.
How many hours has she
worked?

@ A pack of eight sausages
weighs 272 g. How much
does each sausage weigh?
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Dora is calculating 72 + 3
Before she starts, she says the
calculation will involve an exchange.

Do you agree?
Explain why.




